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QUARTELY EXAMINATION- 2023 A
ANSWER KEY
Class: IX MATHEMATICS Marks: 100
Part -1 14x1=14
Q.NO | Option Key answers Marks allotted
1 B A=B 1
2 A 5 1
3 D 6] 1
4 C 8 1
5 B May be a rational or irrational numbers 1
6 D (1 1
7 C 543 1
8 A V3 1
9 D 50 1
10 C 2 1
3
11 A 13 1
12 C x* — y° 1
13 A -36 1
14 B Interior opposite angles 1
PART -11 (10x2=20)
(Q.NO.28 -COMPULSORY)

Q.NO KEY ANSWERS MARKS ALLOTED
15 {AS,E,M,N, T} 1

{P,R,LN,C,A,L} 1
16 (1) AnB ={m,o} 1

(i) Bn 4= {m,o0,} 1

17 n(ANB)=15 1

n(U)=65 1
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18 9 19 2
40'80'
19 x=2.124=2.124124
1000 »=2124.124 1
_ 2124 1
L]
20 V30 2
20 [, 1
+50 Va2
© I
22 i) 9.768854 x 10° 1
i) 4.567891 x 107° 1
23 x3-8x% Mx7 2
24 1 +2023 1
2024 1
25 ((a + b +¢c)*=a* +b* + c* +2ab +2bc + 2ca 1
x2+4y? 4+ 9z +H4xy +12yz + 6xz 1
26 G.C.D = 7xyz? 2
27 x — 892 2
28 AAB=(A—B)uU (B —4) 1
AAB = {6,7,9,10,12} 1
PART -III
(Q.No. 42 is compulsory) 10x5 =50
29

) 4'={ac.eqg}

i)B" ={b,c.f.g}

ia" uB —{ub,c,e [y}
iv) A" nEB" ={c,g}

v) (0")"'={a,d,e,h}
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30 | A={0,2,4,6,8} B={2,3,5,7} C ={5,6,7,8)
BNC = {5,7}
AU(BNC)={0,2,4,5,6,7,8}
(AUB)N(AUC)= {0,2,4,5,6,7,8}
31
i) 185
i) 141
i) 326
32 FOR EACH NUMBERLINE (1. MARK)
PLOTTING NUMBER
33 a) )2°
ii)(22)3 or 7=
b) 243
34 LCM=12
V2=%/16
Véa="y/2096
N
Ascending order :3/2,%/3,3/%,
35 | 72 0
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_ F-2)

— =1 T
(T =2

-7 -4

74 3 1
aZ_T,J b= %
2
(x-2) is a factor 1
36 synthetic division 2
other fctors are (x+3) ,(x-4) 2
37 3x-4y-10=0 : 4x +3y-5=0 1
Cross multiplication 1
*_xy _1 1
50 -I5 25
Solution x=2 I
1
y=-1
38 x+ty=12— (1) 1
2x—-y=3—->(2) 1
X=5 1
Y=7 1
Fraction :— 1
39 4y —by+ 5 2
2y—1|8° - 1602+ 16y - 15 2
8}‘3 X 4}"2 1
(5 H)
- 12)%+ 16y
~ 12)%+ 6y
(+) =)
10y - 15
10y— 5

=) )

- 10
.. The quotient = 4y> — 6y + 5

The remainder = -10

Kindly send me your study materials to padasalai.net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.CBSEtips.in

40 x5 =(x+) 22 1
(x+2) =4 1
x3 +%,=(x+f)3—3(x+%) 1
43 -3(4) 1
52 1
41 (x+35)% + (2x-5)% = (4x-15)" 1
X=45° 1
£4 = 80° 1
£B =85° 1
/€= 15° 1
42 (i) A 2
.
BNC
(iii) A B (iv) A
C (o} 3
&k A-C (A-B)U(A-0)
PART -1V
Q.No | Key answer Marks
allotted
43 Rough diagram 1
Construction of triangle 4
Construction of centroid 3
Rough diagram 1
Construction of triangle 4
Construction of altitudes 2
Locating orthocentre 1
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Q.NO | Key answer Marks
allotted
44
X -1 0 1 4
Y -4 1 2 2
1
Points to be plotted :(-1,-4),(0,-1), (1,2) 1
Scale
Joining the points
plotting the points 2

Joining the points
Scale
X |-1 0 1
y |-1 0 -1

Y=13

Solution (-3, -3)
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sl
aguy:1X aflowL_&@mlony
ugSl -1 (14x1=14)
afleorirer cvbr aﬂé/;l.'/ug aflemr_ w&SlIGIsT
Slfa)

1 B A=B 1
2 A 5 1
3 D @ 1
4 C 8 1
5 B 60 (1 NN&HIS (L M) D16060F) SIS P 6T 6woT GooTITE 1

S ps8600mb
6 D i 1
7 C 543 1
8 A (3 1
9 D 50 1
10 C 2 1

3
M A 13 1
12 C x? — y? 1
13 A -36 1
14 B 2_er@orHlis 1

@& coTIRIS 61T
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afleorm aflemr_ wSlCucbr
Oo7600T
15 {ASEMN,T} 1
{PRINCAL} 1
16 i) AnB={m,o} 1
(i) Bn 4={m0)} 1
17 n(ANB)=15 1
n(U)=65 1
18 _9 19, 2
40 80
19 x =2124 =2124124
1
1000 x=2124124
1
2134
T om
20 V30 2
21 1 1
+ 50 V2
o 1
22 iii) 9.768854 x & 1
iv) 4567891 x i~ 1
23 x¥8x? a7 2
o 1+2023 ;
2024
1
25 ((a 1 b1 c)*=a*+b* | c*+2ab +2bc + 2ca 1
x2+4y? +9z7+4xy +12yz + 6xz
1
26 G.C.D = Txyz* >
27 =89 2
o8 AAB=(A—E)u(B—A4) ;
AAE = {E:,}",‘:"_.ll_l,lz} 1
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i) 4'={a,c.e,qg}

29
i)B' ={b,c.f.g}
A" UB" ={ab,c.ef.g}
iv) A" nB" ={c,g}
v) (B") ' ={a,d,e,h}
0 A={0,2,4,6,8} B={2,3,5,7} C ={5,6,7,8}
BNC = {5,7}
AU(BNC)={0,2,4,5,6,7,8}
(AUB)N(AUC)={0,2,4,5,6,7,8}
3
iv). 185
v) 141
vi) 326
32 FOR EACH NUMBER LINE 1 MARK)
PLOTTING NUMBER
33 a) )2°
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ii)(22) 3 or 2= 3
b) 243
34 8.8 =12 1
Vz=%16 !
1
V=5 4096
1 1
VE=EF
o:rgﬁuﬁla»&:iz = w:.,""_i.. 1
35 [7 2 47 2 1
[7+2 7-2
_ =2y 1
(V7)2-22
T+d—a7 _ 11—44/7 {
T—4 3
q=—1 b= 2
3 3
1
X-2) &mreoof
36 (x-2)
.. 2
O5TGHW O MIGSH0
2
b srreviser (x+3),(x-4)
37 3x-4y-10=0 : 4x +3y-5 1
GDIHGU CUHEE60 1
50 -5 (25 1
Sieyser X=2 1
1
y=-1
38 X+y=12-(1) 1
2x -y =3 - (2) 1
X=5 1
B 1
Y=7 1
Fraction =2
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39 4y — 6y+5
2y—1|87-162+ 16y - 15
8y’ ~ 47
-) 1)
- 122+ 16y
~ 12)2+ 6y
® e
10y - 15
10y— 5
=) )
- 10
.. The quotient = 4y> — 6y + 5
The remainder = -10
40 ¥4 =(x+) 222
(x+2) =4
X 4o =(x+2)73(x +3)
43 - 3(4)
52
41 (x+35)° + (2x-5)° = (4x-15)°

X=45°

£4 — 807
/B = 85°
£C.= 15°
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42 i) A 2
C
BNC A-(BNO)
(iii) A B (V) A
3
c ¢
A-B A-C (A-B)U (A-C)
PART -IV
Q.No | Key answer Marks
allotted
43 2 gsefluuL b 1
. . . 4
(W &B&HMEDTD QIHT 60
3
(& Ga N (heuemr s 6o
2 gsefluuL b 1
. . . 4
(W &B&HMTETDd QIEHTSH60
2

FHMIGN"_L_6DIDWILD &ITGH0)I 560

SFHMIGIL.L D 66T EH60
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Q.NO | Key answer Marks
allotted
44 SiL”_L_6)6m 6007
4
X -1 0 P
Y -4 -1
CriiBa(Hl&6T uemHIE 60 1
Hﬁﬂﬂ&@m@@.&).@@ :('1"4)’(05'1)5 (192) 1
yeirerflas smerr @& Ml & 60 2
CriiGa(Hl&6T uemHIE 60

X oiga Y e, Soteyd HI”Lib:

x |-1 o [1

y -1 |0 [-1

Y=3

x |-1 |0 [1
3 |3 [-3

Siey :(-3,-3)
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